(&% . r&ERIkiE] (B 10 F)

15 28 35 4 BLUF 5 R EXE | 3EAR
1 2 1 2 12 17 11.8% 17.6% 29.4%
2 1% 1 4 0 13 18 5.6% 27.8% 27.8%
3% 1 0 1 17 19 5.3% 5.3% 10.5%
4 # 1 1 1 16 19 5.3% 10.5% 15.8%
5 1 0 1 17 19 5.3% 5.3% 10.5%
6 1 0 2 1 16 19 0.0% 10.5% 15.8%
7 1 3 0 3 14 20 15.0% 15.0% 30.0%
8 1 1 2 1 16 20 5.0% 15.0% 20.0%

N

(&% . B&ERIkE] (B 10 F)

15 28 38 4 BT 5 =R ERR | 3HNXR

1% 0 1 1 8 10 0.0% 10.0% 20.0%
285 2 2 1 5 10 20.0% 40.0% 50.0%
3% 1 0 0 9 10 10.0% 10.0% 10.0%
4% 0 2 1 7 10 0.0% 20.0% 30.0%
5& 0 0 0 10 10 0.0% 0.0% 0.0%
6%& 1 0 0 10 10.0% 10.0% 10.0%
78 2 1 0 10 20.0% 30.0% 30.0%
8 & 0 0 2 8 10 0.0% 0.0% 20.0%
9 & 0 0 0 10 10 0.0% 0.0% 0.0%
10 & 1 1 1 7 10 10.0% 20.0% 30.0%
115 0 1 1 7 9 0.0% 11.1% 22.2%
12%& 1 0 0 8 9 11.1% 11.1% 11.1%
13& 1 0 2 6 9 11.1% 11.1% 33.3%
14 & 1 0 1 7 9 11.1% 11.1% 22.2%
15#& 0 2 0 6 8 0.0% 25.0% 25.0%
16 & 0 0 0 7 7 0.0% 0.0% 0.0%

(&% . HhlRHE] (B 10 F)

15 28 35 4 BLUF 5 R EXER | 3HFRR

o 8 10 10 107 135 5.9% 13.3% 20.7%
> 0 0 0 5 5 0.0% 0.0% 0.0%
tid 2 0 0 9 11 18.2% 18.2% 18.2%




(&% : BinhlakiE]l (B 10 F)

15 28 35 4 BLUF 5 R EXE | 3EAR

4 7% 1 1 0 9 11 9.1% 18.2% 18.2%

5% 3 1 1 16 21 14.3% 19.0% 23.8%

6 i% 4 0 3 15 22 18.2% 18.2% 31.8%

7 % 1 2 4 34 41 2.4% 7.3% 17.1%

8 % 1 5 1 25 32 3.1% 18.8% 21.9%

9 % 0 0 1 15 16 0.0% 0.0% 6.3%

10 % 0 1 0 6 0.0% 16.7% 16.7%

11 7% 0 0 0 2 0.0% 0.0% 0.0%

(&% : BFhIkiE] (B 10 F)

15 28 35 4 BT 5 R ERR | 3HRXR
AEEE 2 0 1 1 4 50.0% 50.0% 75.0%
G 1 2 0 3 6 16.7% 50.0% 50.0%
PR 1 1 2 2 6 16.7% 33.3% 66.7%
JI B3 1 1 0 3 5 20.0% 40.0% 40.0%
He 1 1 0 2 4 25.0% 50.0% 50.0%
HEZIER 1 0 2 1 4 25.0% 25.0% 75.0%
fExtE— 1 0 1 4 6 16.7% 16.7% 33.3%
FLEFRIT 1 0 0 0 1| 100.0% | 100.0% | 100.0%
ARILSATE 1 0 0 0 1| 100.0% | 100.0% | 100.0%
IR 0 1 0 4 5 0.0% 20.0% 20.0%
RS 0 1 0 0 1 0.0% | 100.0% | 100.0%
atalE 0 1 0 2 3 0.0% 33.3% 33.3%
BRE{R 0 1 0 1 2 0.0% 50.0% 50.0%
FEHfE— 0 1 0 1 2 0.0% 50.0% 50.0%
M. A 0 0 1 0 1 0.0% 0.0% | 100.0%
A 0 0 1 5 6 0.0% 0.0% 16.7%
HTRE® 0 0 1 1 2 0.0% 0.0% 50.0%
ENCEN 0 0 1 4 5 0.0% 0.0% 20.0%
ZDABDEETF 0 0 0 87 87 0.0% 0.0% 0.0%




&% | RABERIARGE] (B 10 )

15 28 35 4 BT 5 R B | 3EAR

BREBFIZ 1 2 0 0 3 33.3% | 100.0% | 100.0%
HUKERR 1 0 1 2 4 25.0% 25.0% 50.0%
ERB— 1 0 1 0 2 50.0% 50.0% | 100.0%
A31LIER 1 0 1 1 3 33.3% 33.3% 66.7%
HHIE 1 0 0 2 3 33.3% 33.3% 33.3%
BOET 1 0 0 0 1| 100.0% | 100.0% | 100.0%
IINEFIRER 1 0 0 0 1| 100.0% | 100.0% | 100.0%
HOKEE 1 0 0 0 1| 100.0% | 100.0% | 100.0%
MBHE 2 1 0 0 0 1| 100.0% | 100.0% | 100.0%
HETZ 1 0 0 0 1| 100.0% | 100.0% | 100.0%
=tE =B 0 2 1 2 5 0.0% 40.0% 60.0%
ARSBAT 0 1 1 3 5 0.0% 20.0% 40.0%
ZHET 0 1 0 1 2 0.0% 50.0% 50.0%
B 0 1 0 4 5 0.0% 20.0% 20.0%
RE—% 0 1 0 1 2 0.0% 50.0% 50.0%
PR — 0 1 0 3 4 0.0% 25.0% 25.0%
BiR 0 1 0 0 1 0.0% | 100.0% | 100.0%
g2 0 0 1 1 2 0.0% 0.0% 50.0%
J$HB5E 0 0 1 0 1 0.0% 0.0% | 100.0%
N SIEFT 0 0 1 9 10 0.0% 0.0% 10.0%
FREE 0 0 1 1 2 0.0% 0.0% 50.0%
ET-Fhs 0 0 1 2 0.0% 0.0% 33.3%
T DABDTEZEN 0 0 0 89 89 0.0% 0.0% 0.0%




(&% . siEDIERRIMKE] (B 10 §)

1% 2& 3E | 4aEMTF | f BE | mux | 3Enx
900m 0 0 0 1 1 0.0% 0.0% 0.0%
1,000m 0 0 0 10 10 0.0% 0.0% 0.0%
1,200m 0 2 6 18 26 0.0% 7.7% 30.8%
1,230m 0 0 0 0.0% 0.0% 0.0%
1,300m 0 0 0 0.0% 0.0% 0.0%
1,400m 7 7 3 58 75 9.3% 18.7% 22.7%
1,600m 2 1 0 21 24 8.3% 12.5% 12.5%
1,700m 0 0 0 1 1 0.0% 0.0% 0.0%
1,800m 0 0 0 3 3 0.0% 0.0% 0.0%
1,900m 1 0 0 2 3 33.3% 33.3% 33.3%
2,000m 0 0 0 1 1 0.0% 0.0% 0.0%
2,100m 0 0 0 1 1 0.0% 0.0% 0.0%
2,400m 0 0 0 1 1 0.0% 0.0% 0.0%
2,970m 0 0 1 0 1 0.0% 0.0% | 100.0%
(&% . BIEDL —XBIRRIE] (B 10 £F)
1% 2% 3% |amMT| 3 Bz | mux | 3Emx
=g 2 17 26 19.2% 26.9% 34.6%
JxJSU-—S 6 9 22.2% 33.3% 33.3%
At 7 98 116 2.6% 8.6% 15.5%
(2% . giEDEBAKIERIKE] (B 10 &)
1% 2% 3& | 4BMF | f mE | sux | 3Enx
1 BAR 1 2 3 17 23 4.3% 13.0% 26.1%
2BEAR 2 2 1 12 17 11.8% 23.5% 29.4%
3BEAS 4 2 2 17 23.5% 35.3% 47.1%
4 BAR 0 1 0 9 0.0% 11.1% 11.1%
5BAS 1 2 1 10 14 7.1% 21.4% 28.6%
6 BAS, 0 0 2 9 0.0% 0.0% 22.2%
7BAR 0 0 0 8 8 0.0% 0.0% 0.0%
8EBEAR 0 0 0 12 12 0.0% 0.0% 0.0%
9 BEAS 0 0 1 5 6 0.0% 0.0% 16.7%
10 EAK 0 0 0 6 6 0.0% 0.0% 0.0%
11 BFEBAK 1 1 0 9 11 9.1% 18.2% 18.2%
12 BAK 1 0 0 9 10 10.0% 10.0% 10.0%
13 BEAR 0 0 0 5 5 0.0% 0.0% 0.0%
14 BE\AK 0 0 0 1 1 0.0% 0.0% 0.0%
15 BFBAK 0 0 0 2 2 0.0% 0.0% 0.0%
16 ALK 0 0 0 1 1 0.0% 0.0% 0.0%




(&% FIEDHBAREXDBIMNE] (B 10 F)

15 28 35 4 BT 5 R B | 3EAR
420kg & 0 0 0 1 1 0.0% 0.0% 0.0%
430kg & 0 0 0 1 1 0.0% 0.0% 0.0%
440kg & 0 0 0 3 3 0.0% 0.0% 0.0%
450kg & 1 0 1 0 2 50.0% 50.0% | 100.0%
460kg & 1 0 1 8 10 10.0% 10.0% 20.0%
470kg & 0 2 3 9 14 0.0% 14.3% 35.7%
480kg & 2 1 3 21 27 7.4% 11.1% 22.2%
490kg & 0 0 0 20 20 0.0% 0.0% 0.0%
500kg & 2 0 1 15 18 11.1% 11.1% 16.7%
510kg & 0 3 0 19 22 0.0% 13.6% 13.6%
520kg & 2 0 0 8 10 20.0% 20.0% 20.0%
530kg & 1 3 1 8 13 7.7% 30.8% 38.5%
540kg & 1 1 0 3 5 20.0% 40.0% 40.0%
550kg & 0 0 0 3 3 0.0% 0.0% 0.0%
560kg & 0 0 0 1 1 0.0% 0.0% 0.0%
580kg & 0 0 0 1 1 0.0% 0.0% 0.0%
(&% : BiEDOERI—F—EBIRRMKE] (B2 10 F)
15 28 35 4 BLUF il R EXER | 3 /AR
1&F 5 2 3 23 33 15.2% 21.2% 30.3%
2 &BF 1 0 1 15 17 5.9% 5.9% 11.8%
3&EF 0 1 2 11 14 0.0% 7.1% 21.4%
4 &FF 1 2 0 16 19 5.3% 15.8% 15.8%
5&F 2 1 0 8 11 18.2% 27.3% 27.3%
6 & 0 1 1 14 16 0.0% 6.3% 12.5%
7&F 0 1 1 5 7 0.0% 14.3% 28.6%
8 &HF 1 0 1 4 6 16.7% 16.7% 33.3%
9 &HF 0 1 1 4 6 0.0% 16.7% 33.3%
10 &F 0 1 0 5 6 0.0% 16.7% 16.7%
11 &F 0 0 0 5 5 0.0% 0.0% 0.0%
12 &FF 0 0 0 5 5 0.0% 0.0% 0.0%
13&F 0 0 0 3 3 0.0% 0.0% 0.0%
14 BF 0 0 0 1 1 0.0% 0.0% 0.0%
15 &F 0 0 0 1 1 0.0% 0.0% 0.0%
16 &F 0 0 0 1 1 0.0% 0.0% 0.0%

<RIRHED>



